1FFE SATSH S5EFTONTDELIA

D A mEZ(N A
TWSAZLEL &

D2+ 3= ® 4 + 1
2 1+ 4= (D 2

B) 3+ 2 = 10 2 + 3

Y < >




1F AT D 6 £TONTD/ILIA

b b L mEZ %
TWSAZLEL &
@D 3+ 3= ® 3+ 1=
@ 1+3= D4+ 2=
@1+ 4= ® 2+ 1=
@2+ 1= @ 1+5=
@3+2— 1 3+ 3=

5/ <




1F SATH TEFTOITDILIAL

ey bl REZ D
TWSAZLEL £

D 4 + 3 = ® 5 + 1
2 1+ 3 = @ 4 + 2
B2+ 4 = ® 2 +1
@) 6+ 1= @ 2+ 5
B) 3+ 2= i 3 + 4




1FSATD TETONTDIZLIA2

e bRl HEZ I
TWSAZLEL £9
D 4 + 2 = ® 5 + 2
2 1+ 5 = @ 3+ 2
3) 3+ 4 = ® 2+ 2
@5+ 1= 9 2 + 4
@3+3 i 3 + 4

Y < T




IFSATY SETOAITDAELEAL
> b7 L

TWIAZLEL &

D4+ 3 =
2 b + 3 =
3) 2+ 6

@ 6+1=

mEZ(ZVE)

@D 4 +4 =

® 4+ 1=
@2+ 2=




IFSATY SETOATDIELEA?2

AN BEZA(wW)/

ITWSAZLEL £

D 3 + 3 = @D 4 + 4 =
25+ 2= ® 7+ 1=
3 3+5= @ 2+6=
@ 6 + 2 = W0 3+ 1=
® 3+4-= W2 +4 =
@1+6 12 2 + 2 =

{wm>




1 S AT D QFToONTDI-LIAL

e hEL kA

TWhsAZzLEL &

D 6+ 3= @D 4 + 4 =
@4+ 3= ® 4+ 1=
@ 2+6= @5+ 2=
@6 +1-= © 4 +5 =
5 3+ 2= i 1+8=
@1+7 @4+ 2=

Y < e




1 S AT D QOFTONTDI-LIAZ2

> b L fd:i/%.n

TWSAZLEL £9

D5+ 3= @D 5+ 4 =
@ 4 +5 = ® 4+ 3 =
B) 2+ 3 = @1+ 2=
@ 4 + 1 = 10 4 + 4 =
B3+ 6= ) 8 + 1 =
® 2+ 7= @26+ 2=




1FSATH 10XTONTDILIAL

m\é/u;j;i: 5 PEARE

D5+ 3= D 2+ 8 =
2 4+ 3 = ® 9+ 1=
3 4+ 6= @5+ 5 =
@6+ 1= W 4 +5 =
® 3+ 7= W 1+8=
@1+5 2 3+ 3=

g <




1FSATH 10XETONTDILIAZ

Hh\é/u%tl\j;alfot 9, i

D5+ 4= D3+ 7=
@6+ 3= ® 8+ 1=
34+ 2= @ 3+ 5 =
@9 +1= 10 4 + 4 =
®5+5 = i) 2+8=
@1+9 2 4 + 6 =

g/~




1 AT D HbhHET10 2
mE Rk

<:> 4-&: —631 0 ‘GD E;é: <1 0

O7e |T10 @9 |w10

8 888 8 8 8 8 &8




1FSATD HHhET1l0 1




	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8
	スライド 9
	スライド 10
	スライド 11
	スライド 12

